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1.1C 1.2B 1.3A 1.4D 1.5A

2.1.1 nitrogen v/
212p =7V n°=7 v/ e =7V

2.1.3 orbitalsv arrowsv’  2.1.4 1s?2s22p3 vV
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3.1 Isotope: Same element different number of neutrons (mass)v'v’
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3.2  Rel Atomic Mass =—> x 64 + -2 x 67 =652 VvV
100 100

3.3 Zn,zinc Vv

4.1 0O, oxygenv
4.2 Si, siliconv’
4.3 F,flourinev
4.4  Ar, Argonv
4.5 Co, Cobaltv
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5.1 lonization Energy is the energy neededv” to remove an electron(s)v’ from an atom

whilst Electron Affinity is the energy releasedv’ when an atom gainsv’ an electron(s)

5.2.1 Asthe atomic radius decreases (left to right) so the IE increases since the electron’s
are closerv” to the nucleus .. stronger forces of attraction requires morev” energy to
break OR

as the electron affinity increases (Left to right on Periodic table)) so the I.E. also increases.
An atom with a higher electron affinityv” is more reluctant / less likely to release an
electronv’
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6.1.1 loses electrons v/
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6.12 n =2 = 35x10

=" _ =219 x 10 3electrons lost  (formulav substv ansv)
qe 1.6x1071°

6.2.1 Electrons transferredv' from A = BV

6.2.2 Final charge on both is: Q = _4; ° = % = +1mC on bothv'v

6.3.1 positivev’
6.3.2 Electrons transferredv” from perspex to polyesterv’

6.3.3 Less positively chargedv’ [12]



